®

The Life of the Kitchen?®

rausTS
CANTALOIE

ETT365-1 Cooktop

Page # Sheet Title
2 ETT365-1 Assembly
3 ETT365-1 Parts

NOTE: This Parts Catalog section does not apply to cooktop models
ending with -2. See separate Parts Catalog section for ETT365-2.

Revised 10-18-2011

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745  Phone 800-353-2267 ¢ FAX 909-348-5601



ETT365-1 Cooktop Assembly

@/ ITEM 16
CONTROL BOX ASSEMBLY

@ [SOMETRIC VIEW
FROM UNDERSIDE

The Life of the Kitchen® Page 2

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745  Phone 800-353-2267 ¢ FAX 909-348-5601



ETT365-1 Cooktop Parts

The Life of the Kitchen”

Ref # Description Part #
Cooktop Top Glass Panel, Model ETT365-1B 66949B
1 Cooktop Top Glass Panel, ModelS ETT365-1BG | 66947BG
Cooktop Top Glass Panel, ModelS ETT365-1RF | 66947RF
Cooktop Top Glass Panel, Model ETT365-1S 66952S
2 Screw, Phil TRS, #8 X 3/8” 83024
3 Touchpad Adhesive 83372
4 Touch Board, Lower 72513
5 ETT Ribbon Cable 62063
6 Element, Dual** 700411-03*
7 Heater, Series 8, 1200w* 66128*
8 Heater, Series 8, 2100w** 66132%*
9 Heater, Series 8, 1500w** 66129*
10 | Heater, Series 8, 1800w** 66130*
11 (Spring, Heater 100644
12 | Insulation Blanket 80209
13 | Wiring Harness 72631
14 [ Chassis Weldment 27480
15 | Heyco Bushing SB-875-11 83056
16 | Control Box Assembly 13693
17 | Heat Shield Assembly 27254
18 | Conduit Service Kit** 66798**
19 (1/4-20 x 3.50 Hex Head Bolt 83065
20 | Hold Down Bracket 27251
21 | Screw, Phil Trs Hd, #10 X 1/2" 83022
22 | Terminal Block Screws 83326
23 | Terminal Block 62052
24 | Nut, Keps, #10-24 83009
25 | Power Board 72512
26 | Cooling Fan 62077
27 | Control Box Air Baffle 36437
28 | Fan Mounting Bracket 36459
29 | Air Duct 36488
30 | Control Box Weldment 27669

* For complete element kit, order PN 62793

** Includes conduit, elbow, wires and terminals

Page 3

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745  Phone 800-353-2267 ¢ FAX 909-348-5601



